
Day 27 - Applications of Stiefel . Whitney classes

Recall we have the following bijections for rank 1 v. b. s
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PIP : If Z is a rank n hector bundle with a

non . zero section then wn( 4=0
.

More generally ,
if Z

admits K everywhere lin
. independent sections then
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If : Suppose 3 has K 1in . Ind
, sections . Put a Riemannian

metric on 2
.

then { I EKOCEKH with (EKF of dais
.



n . K
.

Thus Wil EKWIKEKH )=O for I > h - K
.

In class exercise : prone that the two definitions of

the Stiefel . Whitney classes coincide
.

See the handout

for solution

[ See Ms for computation of WHRP " )
,

Thm 4.5 ]

Thm 4.5 of MS
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EI : ( oeffo of
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" ) ;

n= 1 1 0

h=2 1 1 1

n =3 1 0 0 0

h=4 1 1 0 0 1

n=5 1 0 1 0 1 0

h=6 1 1 1 1 1 1 1

n=7 1 0 0 0 0 0 0 0
'
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,
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,
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'

,
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Remark: It's known that IRPIIRP
'

,
IRP

'

are parallel izable

but nest are not ( harder )
.


